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Anything which is ready to be — AT PINTD P TR 93
sprinkled; is considered as if it had been sprinkled

OVERVIEW
The X3 explained that the 770 "nn? were 7109 (and cannot be redeemed) because
the blood spilled before the P77, And even w"aX7 who maintains that both 2>7°n»
(the mv nw and the np>1) are required to be wpn the an®, nevertheless the 7710 nn>
are WTpn (even though 0771 P11 XY), for m7 PI1710 P17 72w 92, and it is considered
as if the 07 was P11 and the 0 % are W17p; however they cannot be eaten since the
07 was not P11 and they cannot be redeemed. moon will clarify the rule of 72w %5
MT PIT PITY.
L 4

mooIN asks:

— 127 Y91 533 N1% YWY KYY I 79T 9NN ON)
And if you will say; Let us say that (even) when he sprinkled the blood of the

Ty X9 naxy owad it should also be considered as if he sprinkled it properly,
since it was P12 721 it should be 27 p171o -

— YYD 1INT PIYNY 239 12 TYIN 229 9INP INNIN)
So why does @''aR" maintain that if 12w R5W 127 PN 172W9 JOnY it is not wTP? If
he maintains that °n7 P12 P19 7290 92 then immediately after the nvnw, the o7 of the o°wad
was P12 7, so it is n7 P1712 and the an%n *nw should be w17p. The fact that later he was P
the 72w X7w a7 should not be able to remove the 7w17p that the an?i *nw received from the 93
P1T? TR, What is the difference between 0771 79w1 (where we say the on? is W17p since 7297 92
"191) and WY K7W 7 P71 (Where we say that onn wp X? and we do not say "1 72Wwi1 93)?

Mo0IN answers:
— 0T 7OV P93 BYYN 11DV 113 1Y YU

And one can say; since he extricated it from m»w» by actually sprinkling it X5w

WY, this act makes it worse than the case where the blood spilled -
— 'nbap nYYa 91919 5N NYT RNYM NITIIN)

Therefore the truth was revealed retroactively that it was not considered 1912
at the time the blood was received in the vessel.

' When no act is taken to challenge the 7P 7 (as in the case of o7a 7ow3; where it spilled accidentally) then we
maintain 21 7297 9; however when action was taken overtly to nullify the 7°77 (as in the case where X>w 077 P71
1mw2) then this act abolishes the rule of 131 1w 93. See: “Thinking it over’.
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NN asks:
— NPTl 25)’& 9N (x,ap mnm) ©YIDINI NMININD PHI93T DYDY

And there is a difficulty with the previous answer; for in 295937 N7 P99 the

Xn3 states; if the 3770 was 9as% by the 71977 rendering the 109 1277, nevertheless the w2
12900 -

— 52 PYIT PYIVY TN YT DIUM PPYNY 53295 DTN NNNDIV NPV
is 29908 NN R2wR according to ®'' on account of his ruling that 72w

AT P P, It is considered as if the 07 was pan1 properly and the 2w3 is considered 2918
and is 2°223% XML Xnvn. The question is we have previously said that when there is a deliberate
act of 9109 such as 1AW X2W 17 P77 it removes the °»7 P11, then here too there was an act of 2on
7P°772, this should also remove the *»7 1710 —

mdoIN rejects a possible distinction:
— MYy RIYY 919 13 *oYnY DAY

And it is difficult to distinguish between 91372 and »wb X9w. There is no logic to
say that if it was (merely!) 9301 then the "7 P12 is effective, however if it was w9 R2w P71 then
it cancels the "7 P1712. There is seemingly no difference between 713°5 and 1w Xow.

N1B0IN answers:
— 11P59T2 5X99T 23 YY N 71919 2PYN NATT DI DP3ATT Y Y

And one can say; that concerning the body of the sacrifice (the meat of the

129p) it is considered P12 despite the fact that he was ;7P 712 agn -
— ONY 15 NATH Oy DIVTPIND 02927 223D YaN

However concerning items that are sanctified with the sacrifice such as the

bread, which are not part of the actual sacrifice, it those instances -
:*9Y9na NYY APYIN AYPIYI 71T YN KD

It is not considered 191> when the actual 77?59t was performed improperly.

SUMMARY

Concerning the 127 itself we always maintain 27 P11 P12 TWwn 95 even if a
700 1p>r was performed. However concerning external items (such as the oon?)
it is P1712 only if no 7709 pP*T occurred.

% The 17 thought to eat the 321> ¥ 1297 (or ¥pu> y) during the 7™ 1 process. This is called 20, The 127p is 2109
and the meat is X172 7OK.

? w" maintains (1,7 2" PXPIT XNdOIN and X,XP NIn) that any food which is X172 MOKX cannot become Xnv.

* See v 7"7 X,7n M Moo where he differentiates between mw X9w (where it changes it to a different j27p and
therefore it is not "7 P1712) and 75 (where seemingly it is still the same 7277 but he plans to eat it W12 yw1; and
therefore it is considered 217712). However our nv01n rejects this difference.

3 See the various commentaries who attempt to explain this distinction; 2772% N372 XMW 927 ,2°9177 X97.
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THINKING IT OVER

Why is it that by 7aw% X>w 17 pI1, there mMo0IN claims that X097 SX73°KR that it was
not 12ap NYw2 P1710; however by 077 79wl we do not say this Xn? X72°X that it
was not 7772p nYw2 1710 but rather that it is »7 m‘w:?!6

® See p7ax N372 and N"H 2"A.
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